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Q4 Section B 2013

| Q4 Current Budget Deficit / Taxation / Decreasing capital expenditure

(a)

®

‘The Exchequer deficit in December 2012 was €14.8%mn". (Dept. of Finance, January 2013) (30)

Discuss four possible economic consequences of the Government Current Budget Deficit for the Irish economy.

1. Additional taxation
The government needs to increase revenue to finance its activities and so has increased the rate of VAT,
introduced the Property Tax and Septic tank tax. It also plans to introduce water charges.

2. Cuts in public expenditure
In the recent budget the rate of cluld benefit was cut and this affects all fanulies in the state resulting in a
reduction in their standard of living etc...

3. Reduction in the provision of state services
The provision of services such as SNAs; home help for care assistants 1s causing difficulties for sectors of

the population.

4. Troika intervention
The requirement to reduce the current budget deficit by the Trotka means that the Troika can mntervene and
advise the Insh government on policy measures within the economy.

5. Public sector pay
The government is insisting that the public sector pay bill 1s reduced and that measures to increase
efficiencies in public services must be introduced.

6. Reduction in aggregate demand / job losses
With the additional taxation consumer spending has fallen. This has resulted in job losses particularly in the
retail sector.

7. Loss of confidence / emigration
The umpact of extra taxation; reduced consumer spending; job losses etc. means that people are fearful
about the future which affects business confidence. People. who are mobile, are emmgrating.

§.Moaderation in citizens expectations

Citizens are aware of the current financial position. They may accept more readily charges for state / local
services; mcreased taxes and a reduction 1n state services for some individuals e g fewer hours for care
assistants etc.

4 points at 5§ marks (2+3) each



(1) Explain how a government budget could be used to reduce mcome mequalities 1n an economy.

Welfare henefits could be increased / maintained
This means that those on lowest ncomes would recerve additional mcome.

Tax changes

The government could make taxes like income tax, CGT and CAT more progressive.

Abolish tax reliefs and shelters that are used by very high income earners to avoid paying taxes.
Widen the lower income tax band so as to increase the real income of low income earners.

Wealth tax
The government could introduce a wealth tax in 1ts budget sinular to that introduced 1n economues like
France where incomes over €1m are taxed at 73%.

Target universal entitlements
Instead of grving child benefit to every household with children 1t could be means tested or targeted at

parents in receipt of welfare payments and working parents earning low wages.

Increase the minimum wage rate
In doing so workers on lower mcomes would have a higher disposable income.

2 points at 5 marks (2+3) each

b () State and explain twao reasons why the government increased taxes on cigarettes and
alcohol in its most recent budget.
(11)  Outline three economic impacts for the Irish economy of an increase i Motor Tax. (30}

(1) State and explain two reasons why the government increased taxes on cigareites and alcohol 1n 1ts most
recent budget.

1. To discourage smoking / alcohol consumption
Increasing prices might encourage people to smoke less or drink less / their health improves.

2. To reduce health care costs
If mdividuals become healthier they may not require as much health care, so the costs of
providing health care falls.

3. To reduce absenteeism from work
If less people are 1ll, there will be less absenteeism from work and productivity will increase.

4. To increase revenue from these taxes
As some people are addicted to smoking and consuming alcohol. irrespective of the tax increase, revenue
from the sales of these products will continue to increase.

5. To specifically target the consumption of alcohol and tobacco by young people
The Minister may wish to make the prices of these products prolubitive for young people so that
they are discouraged from smoking / “binge” drinking.

6. To discourage/ limit tax evasion
Since goods like alcohol and tobacco have inelastic demand people continue to purchase these goods and by
including tax in the price it makes it more difficult to evade taxes on these products.

2 points at 6 marks (3+3) each



(11) Outline three economic impacts for the Irish economy of an increase i Motor Tax

1. Increased tax revenue for the local authority
The local authority receives an additional source of revenue from the tax. People see driving as a necessity
so most people will still continue to use their car even with the increase in motor tax.

2. Reduced disposable income for consumers
The purchasing power of consumers falls as they have less income available for spending on other products.

3. No incentive for purchasing environmentally friendly cars
Those who purchased “green’ cars are being hit hard with the tax. This does not encourage people to
purchase cars that have lower emissions.

4. Increased costs for husinesses
The cost of transport for businesses will increase which will lower their competitiveness / increase
CONSUMET Prices.

5. Passible closure of car dealerships
If fewer new cars are bought this may result in job losses.

6. Better for environment
Some fanmulies may be unable to retain their second car. Others may decide to give up their car and use
public transport. This may have positive implications for the environment.

3 points at 6 marks (3+3) each

(c) “The Public Capital Programme must make a further contribution to budgetary consolidation’.
(Infrastructure and Capital Investment. 2012 — 2016)

As an Advisor to the Minister for Public Expenditure and Reform. discuss two economic arguments in

favour of a reduction in capital expenditure in the Budget. (15

1. Reduce state horrowing and reduce the national debt
By reducing capital expenditure overall state borrowing will be reduced and this will have a positive effect
on Ireland s national debt.

2. New Infrastructure already in place / fewer bottlenecks

Billions have been spent on improving the infrastructure over the past number of yvears and as a result our
infrastructure, particularly the road network, 1s of a high standard. There are fewer infrastructural
bottlenecks as a result of spending on infrastructure over the vears.

3. Private sector is providing necessary infrastructure
In some sectors private companies are providing the necessary capacity e g broadband subscription growth.

4. Spending in line with other European countries
Even with the cuts in government expenditure Ireland will be spending about 2% of GDP on infrastructure.
This 1s in line with the average across the Euro zone economies.

2 points
1* dpuint at 10 marks (5+5)
2" point at 5 marks (2+3)



Q9 Section A 2012

9. The Irish Government introduced the household charge (property tax) of €100 per household n 1ts
2012 budget.

(a) State twa advantages of this charge/tax for the exchequer.

1. Government revenue
These charges will increase revenues for the state / local councils.

2. Stable tax
This tax broadens the tax base, in accordance with the Troika aims. It is payable by every

homeowner and so, in theory, it should be a more stable form of tax.

3. Less need to raise direct taxes / not act as disincentive to work
With revenue earned from this it may reduce the need for the government to increase direct
taxation. As mcome taxes are not raised then this tax will not act as a disincentive to work.

4. Economic
The cost of collection for the state 1s to date quite low due fo the onlme method of collection.

5. Ease introduction of property tax
Despite the problems with the household tax, its introduction is preparing the population for the

mtroduction of the proposed property tax.

6. Government planning

As this 1s a flat charge, the revenue collected 1s certain, thereby facilitating government
planning.

2 points at 4 marks each.



Q6 Part (b) Section B 2012

®

(b) ‘Most euro zone countries with large deficits are using VAT to generate revenue.’
(Irish Tax Institute. The Insh Times, November 2011)
(1) Explain. using examples. the difference between direct taxes and indirect taxes.
(11) Dascuss the economic advantages and disadvantages for the Government of
increasing VAT rates instead of income tax rates in its most recent budget.
(111) Outline how imposing a tax on sugary foods (e.g. fizzy drinks) could benefit the
Irish economy. (35)
8 marks
Direct taxes Indirect taxes
Explanation | Are taxes on income / wealth / profits | Are taxes on goods / services / spending
Example Income tax; CPT; DIRT VAT, Excise duties

{11) Daiscuss the economic advantages and disadvantages for the Government of mcreasing VAT rates instead

of income tax rates m its most recent budget.

Advantages
(of increasing VAT instead of income tax rates)

Disadvantages
(of increasing VAT instead of income tax rates)

Economic

The costs of collection are borne by traders /
retailers and not by the state.

The revenue collected 1s much greater than the
costs of collection.

Inflation
Increased VAT rates will lead to higher prices
causing cost- push mflation.

Impaossible to evade
As the tax 1s builf mnto the selling price they
are impossible to evade.

Inequitable / Regressive

Indirect taxes do not take a person’s ability to
pay into account and so the burden falls more
heavily on lower income groups.

Convenient
As they are included in the selling price they
are convenient for the taxpayer.

Disincentive to spend
With rising prices in the current recession it
may cause people to defer spending.

No disincentive to work

With an increase in direct taxes taxpayers may
feel a disincentive to work. This does not
occur with an increase in VAT.

May lead to black economy activities
Some consumers may switch to the black
economy leading to a loss of revenue for the
state.

Used by government to change
consumption patterns.

The government could increase VAT on those
commodities which 1t deems harmful to the
public 1.e_ cigarettes, alcohol

Burden of collection passed to
retailers/traders.

They act as revenue collectors and procedures
must be put in place to collect, record and remuit
the revenue_ increasing the costs for the firms.

Acts as a built in stabiliser.

As the economy expands spending rises and
so too will the revenue collected from
taxation.

Revenue uncertain
The revenue collected by the state is not as
certain as that collected under direct taxes.

2 at 5 marks.

2 at 5 marks.




(111) Outline how imposing a tax on sugary foods (e.g. fizzy drinks) could benefit the Insh economy.

1. Revenue for state
This tax would bring in much needed revenue for the government.

2. Help fund health initiatives
The revenue raised could be used to fund programmes which tackle obesity particularly among

young people.

3. Reduce consumption of sugary foods
The tax would increase the price of these foods and this may act as a disincentive to purchasing
these foods.

4. Help reduce future health costs / healthier population

By helping to reduce current consumption there may be less health problems in the future leadng to
less expenditure on health. Reduced illnesses in the population will help to reduce current health
costs.

1* correct point at 4 marks.
2™ correct point at 3 marks.



Q4 Section B 2010

‘ Question 4 Taxation, National debt

(a) “Nextyear, almost half of income earners will pay no income tax and 4% of income earners will pay almost half dot
the tatal tax yield" (Minister for Finance, Budget siatement, 9" December 2009.

The above sifuation is occurring at a time when {axagon revepyes have fallen considerably and there is a debate
about the need to broaden the tag base.

(i) Explain briefly the underlined terms.
(11) Discuss the characteristics of a good taxation system. (30 marks)

(1) Explain briefly the underlined terms
Taxation revenues — 5 marks

Monies/incomes received by the government in the form of direct & indirect taxes. and used n
the running of the country.

Broaden the tax base — 5 marks

Increasing the number of people / areas on which tax is levied / i the tax net.

(1) Discuss the characteristics of a good taxation system.

1. Taxes should be equitable
The tax levied should be related to the person’s ability to pay.

1. Taxes should be certain
The amount of tax which a person must pay (the state collects) should be certain and clear.

3. Taxes should be convenient
The manner / timing of payment of the taxes should be convenient fo the taxpayer e.g. the PAYE
system of tax is convenient because it is deducted at regular intervals rather than one lump sum.

4. Taxes should be economic
The cost of collection should be small 1n relation to the amount of revenue to be collected.

5. Taxes should not act as a disincentive.
The marginal rates of tax should not discourage workers from working overtime / tax rates on profits
should not discourage investment by entrepreneurs / savings should not be discouraged.

6. Taxes should aid the redistribution of income.
A good tax system should help the government redistribute income from the rich to the poor
/progressive taxes allow the government to do this.

7. Tax rates should be consistent with national economic objectives.
The taxes levied should help the government achieve other economic/social objectives.
E.g. raising excise rates on cigarettes will help discourage smoking.

8. Should have a stabilising influence on the economy.

A good system of taxation can prevent the level of economic activity rising as fast as it otherwise
would when the economy 1s on an upturn, and prevent the level of economic activity falling as fast as 1t
otherwise would in a recession.

9. Evasion should be impaossible
A good tax should be impossible to evade, otherwise the tax is not fair.

5 at 4 marks each. State: 2 marks. Explain: 2 marks.



(b) The Insh government introduced a carbon tax 1n 1ts latest Budget {:9&' December 2009).
(1)  Is this tax an example of a progressive or a regressive tax? Explain your answer.
(11) State and explain two possible economuc advantages and two possible economic

disadvantages of the new carbon tax.

(25 marks)

(1) Is thus tax an example of a progressive or a regressive tax? Explain your answer

It is a regressive tax because it does not take into account your ability to pay the tax/ people
on lower incomes would pay a greater proportion of their income 1in tax.

5 marks: State: 2 marks. Explain: 3 marks.

(1)  Two possible economic advantages and two possible economic disadvantages of the new carbon tax.

Advantages

Disadvantages

Government revenues
Increased government revenue through
increased revenues from this carbon tax.

Inflationary pressures
Higher fuel prices will mean consumer prices
increase, leading to a rise in the CPI

Investment in R&D /

Encourage innovation

Greater investment in R&D into alternative
sources of energy / renewables /transport.
Government could promote “green
industries” and thereby create jobs.

Loss of competitiveness /

increased costs of production

Industry will now be paying higher prices and
this may reduce the international
competitiveness of Irish firms.

Increased costs may act as a disincentive to
attracting foreign direct investment.

More efficient use of resources /
Change consumer behaviour
Consumers may be more aware of the
scarcity of these resources and so become
more efficient in their consumption.

Decrease in the standard of living
Higher prices means less disposable income and
so standard of lrving will fall.

Help pay towards our carbon footprint /
Environmental protection

The revenue collected can offset the cost of
our collective carbon footprint / result in
fewer emissions.

Revenue may be targeted for specific
environmental projects.

Regressive form of taxation
This tax would not take a person’s ability to pay
into account.

2 at 5 marks each.
State: 2 marks. Explain: 3 marks.

2 at 5 marks each.
State: 2 marks. Explain: 3 marks.




Q6 Section B 2008

| Question 6 Taxation

(a) In each of the following distinguish between the terms:
(1) ‘progressive taxation” and ‘regressive taxation’
(11) ‘tax avoidance” and “tax evasion’ ( 20 marks)
Progressive taxation Marks Regressive taxation Marks
One that takes proportionately more in 5 One that takes proportionately more m 5
tax as a person's ncome increases tax as a person's income decreases
Tax avoidance Tax evasion
Arranging ones affairs within the law so 5 Reducing tax liabilities by making false 5
as to mininise tax liabilities. refurns or no refurns.
(b) (1) Outlie the main functions of taxation. (30 marks)
1. Finance Government Activities
To finance all government activities e g. running of civil service, wages of Public Sector
workers.
2. Economic Objectives
To achieve economic objectives: reducing inflation, favourable balance of payments.
3. Redistribution of National Wealth
To redistribute the national wealth through transfer payments/social welfare payments.
4. Automatic Stabiliser
It acts as an automatic stabiliser for the economy. It helps to avoid wide fluctuations in the
economic cycle by automatically taking more tax when economy is doing well and taking less
when economy 1s performing poorly.
5. Social objectives
To achieve social objectives e.g. discourage smoking, drinking / decrease pollution/damage to
environment.
6. Promote enterprise

To help industry through subsidies/grants and other services can be provided to help industry
and encourage enterprise e.g. County Enterprise Boards.

4 points at 4 marks each graded.




(1)

(111)

e

Explain. using an example, the meaning of the term “incidence of tax’.

Incidence of tax refers to the person who actually bears/pays the tax.
This 1s not necessarily the person on whom the tax was levied or placed.

Example: If the government decides to increase a tax for a producer e g_ electricity and the
company passes on the tax to the consumer in the form of higher electricity prices then the
mcidence of tax is on the consumer because the consumer ends up paying most of the tax.

Explanation and example: 6 marks graded.

Outline two reasons why the Minister for Finance regularly taxes goods such as alcohol, cigarettes and
petrol in the Government’s annual budget.

Inelastic demand
These goods have inelastic demand therefore the quantity demanded will only reduce slightly
because of the mcrease in tax. The government will therefore collect more tax revenue

Goods with Social Consequences

The consumption of these goods has other consequences e g_ health issues with the use of
tobacco and alcohol/social problems from excess aleohol/environmental damage. The
government can use the tax system to try to discourage the consumption of these goods/could
use the revenue to provide for extra healthcare etc.

To discourage private car transport and encourage public transport
By making petrol dearer, the use of public transport may be more attractive and by
encouraging its use, the environment is protected by reducing emissions.

To discourage/limit tax evasion
Since goods like alcohol, tobacco and petrol have melastic demand people continue to purchase

these goods and by including the tax in the price it makes 1t more difficult to evade taxes on
these products.

2 reasons at 4 marks each graded.



(1) There has been a shift in focus by the Government away from direct taxation to
indirect taxation. Discuss two economic advantages and two economic disadvantages of this

situation for the Irish economy.

(25 marks)

Economic Advantages

Economic Disadvantages

Evasion is more difficult
As the mndirect tax 1 mcluded in the selling price
of the good or service it 1s impossible to evade.

Will increase inflation

Indirect taxes raise the prices of goods and
services and hence the cost of living, possibly
causing demands for further wage mcreases.

No disincentive to work

A taxpayer can adjust their expenditure patterns to
reduce their tax lhiability and thus 1t does not act as
a disincentive to work unlike direct taxes.

Regressive

Lower income groups may end up paying a
greater proportion of their income m this form of
tax because they spend a greater proportion of
their income on goods/services.

Convenient for taxpaver
They are included in the selling price and paid
when the good/service 1s bought.

Revenue collected is not as certain
The revenue to be collected 1s not as predictable as
that from direct taxation. This may hinder the

government s financial planning.

Used by government to

change consumption patterns

The government could increase the tax on those
commodities which it deems harmful to the public
i.e. cigarettes, alcohol The introduction of the
plastic bag tax has reduced demand.

Burden of collection passed to retailers/traders

These now act as revenue collectors and
procedures must be put into practice to collect,
record and remit the revenue, increasing costs for
the firms.

Economic
The cost of collection 1s borne by retailers and
producers not by the state.

Inequitable

Indirect taxes ignore ability to pay. A person who
earns a high income but doesn’t drink. smoke or
dove a car will pay a lower proportion of his/her
mcome in tax than a person on the same imcome
who consumes these commodities.

Fewer complaints from taxpavers

As the tax 15 mcluded in the selling price the
taxpayer may be unaware of the rate of tax s'he 1s
paying and so the government may face less
criticism that if rates of direct taxation were
mcreased.

Acts a built in stabiliser
As the economy expands spending rises and so too
will the revenue collected from taxation.

2 advantages at 4 marks each and 2 disadvantages at 4 marks each graded.




(i)

[

Ireland must reduce its ‘carbon footprint” (1.e. the level of greenhouse emissions from fossil fuels by
20% over the next 12 years.
Explain two ways in which the tax system could be used to meet this target.

. Environmentally Friendly Vehicles

The government could give tax exemptions for environmentally friendly vehicles such as
electric cars, hybrids, and vehicles using bio-diesel.

. Vehicle Registration Tax

A reduction in Vehicle Registration Tax could be given for vehicles with low CO; emissions
and an mcrease in Vehicle Registration Tax for high emission vehicles.

Road Tax
Increase the amount of road tax paid to discourage the use of vehicles.

Public Transport
Reduce any taxation on prices paid for public transport.

. Polluter Pays

Introduce a polluter pays principle/tax those who are environmentally unfriendly at a higher rate
e.g. weight per bin

Offer tax incentives to firms to develop/supply alternative sources of energy.
The government has increased expenditure in this area with the long term aim of reducing
dependence on fossil fuels.

Offer tax incentives to households to switch to alternative sources of energy.
The government could increase the tax rebates to those households who switch to solar energy;
wood pellet heating etc.

. Increase Excise Duty on Fuel

Increase taxes on petrol, diesel and home heating o1l to encourage people to change their
consumption patterns towards more environmentally friendly solutions.

2 points: 5 marks graded + 4 marks graded.



